Sunchaser 8 to 12 Solar tracking system

assembly steps

Assemble step

picture

describe

Install the slewing driver to the column, and
use 8pcs M12 * 30mm screws to connect and
install.

The customer needs to install the foundation
to fix the column on the ground, Embed the

M20 screw rod in the cement base according to
the screw hole position of the column.

_—

W

/)
T

Install the triangular support middle column

3
with 10 M12*30mm screws
T \ 1] I o)
21
Install triangular support beams and support
4 rods.
Use 2 sets of M14 U-shaped screws to install

MI4U

the beam. 4 sets of M12*50mm screws and
nuts for installing the support rod.




i}

P -
il

Install the two main vertical beams. Connect a
solid beam to the beam of the tripod with a
pin, and then insert the small pin into the pin
hole. Pay attention to the position of the
vertical beam and the beam, and the two sides
should be symmetrical. Install another one in
the same way.

e

=}

Connect the 4 main beams to the top beams
with M14U-type screws. The main beam is
formed by the butt joint of two small beams.

M12*30mm*4




[ ; ; s
-
Eite——aa——il=
H———
I i I:D
Use M14U-type screws to connect and install
7 = = . the push rod to support the beam. The front
! : 1 P
F ¥ 1 and rear positions of the support beam are
adjusted with the electric cylinder link point.
< 5
(o -
— .
| I
3 il ]r Connect the linear actuator. Fix the upper end
“ & with M12*70mm screw nut, and fix the lower
end with M16*¥70mm screw nut.
|
O K =, = 1]
|
9 Fix and connect the 2-meter U-shaped long
grooved steel pipe with M10U-shaped screws.
The spacing depends on the PV panel width.




10

Connect the controller with the linear actuator
and the slewing driver, and fix the angle
sensor. Start running the device.




